Algebra 2





Name





Quiz D





Date


Block



1. Evaluate each expression.
a. 
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  when x = -5 and y = 1
2. Solve each equation.  Answers should be in simplest form.
a. 
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b. 
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3. Solve each equation for y.  Answers should be in simplest form.
a. 
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b. 
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4. The formula for area of a parallelogram is 
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a.  Solve the formula for h.  
b. What is the height when the area is 
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5. Solve each inequality.  Then graph your solution.
a. 
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6. Solve the compound inequality.  Then graph your solution.
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7. Determine whether the following is a function.
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8. Evaluate the function for the given value of x.
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  when x = 6
9. Find the slope of the line through the given points.  Then determine the relationship between the lines.

a. (4.5, -5) and (1, 2)

b. (-2, 5) and (1, -1)

c. Would the lines be parallel, perpendicular, or neither?  Explain your reasoning.
10. Given the equation of the line, determine the slope and y-intercept.  Then graph the line.
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m = ______

b =  ______

11. Given the slope and point on a line, write the equation of the line.

· Hint: You may use slope-intercept form (y = mx + b) or point-slope

form (y – y1) = m(x – x1).

Slope = 0, passes through (12, 4)

12. Solve the following systems by GRAPHING.

a. 
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13. Solve the following system by SUBSTITUTION.

      
[image: image19.wmf]4

2

3

3

2

-

=

+

-

=

-

y

x

y

x


14. Solve the following system by ELIMINATION.
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15. Define your variables and write a system of equations to represent each scenario described.  Then solve your system using any method.  SHOW ALL WORK!!!

To raise money for new football uniforms, your school sells silk-screened T-shirts.  Short sleeve T-shirts cost the school $5 each and are sold for $8 each.  Long sleeve T-shirts cost the school $7 each and are sold for $12 each.  The school spends a total of $2500 on T-shirts and sells all of them for $4200.  How many of the short sleeve T-shirts are sold?
x =

y = 
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